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QUESTION 1
Click the Exhibit button.

alphanal::> vlan show —-node alphanal-01 —vlan-name e0c-1

Node: alphanal-01
VLAN Name: =0c-1
Associated Network Port: elc
Network Switch VLAN Identifier: 1
MAC address: 02:a0:98:7€:e5:da

alphanal::>net int show -vserver lab-fsl
(network interface show)

Logical Status Network
Vserver Interface Admin/Oper Address/Mask
lab-fsl

lab-£fsl_lifl up/up 10.1.100.199/24

alphanal::> net route show -vserver lab-fsl
(network route show)
There are no entries matching your gquery.

alphanal::> network ping -vserver lab-fsl -1if lab-fsl 1ifl -destination 10.1.100.1

no answer from 10.1.100.1

Current Current Is
Node Bort Home
alphanal-01 elc-1 true

-

alphanal::> network ping -vserver lab-fsl -1if lab-fsli 1ifl -destination 10.1.100.2

no answer from 10.1.100.2

You are configuring a NetApp cluster to communicate on VLAN 1. However, the new LIF is unable to communicate with
any host in the VLAN. The network administrator has configured the switch port as an access (untagged) port on VLAN

1 and says that the VLAN is non-routed.

Referring to the exhibit, what would you do to troubleshoot this problem? (Choose the best answer.)

A. Verify that there is not IP address conflict on the network.
B. Reconfigure the LIF to be on port eOc.

C. Add a default gateway.

D. Verify that the network cabling is working properly.

Correct Answer: B

QUESTION 2

Click the Exhibit button.
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Platform Confiugration: AFF A300 Single Chassis HA pair -

[Port Address & { Description Max Data Rate Portcon ‘ Port Type
Da | Serial-Attached SCSI SAS: 6/12 Gbps . SAS MiniSAS HD
b Sernal-Attached SCSI SAS: 6/12 Gbps SAS | MiniSAS HD
Oc Senal-Attached SCSI | SAS: 612 Gbps SAS | MiniSAS HD
od Senal-Attached SCSI SAS: 612 Gbps SAS | MiniSAS HD
e0a | Ethemet | Ethernet: 10Gbps | Etherne! | SFP+
e0b Ethernet | Ethernet: 10Gbps |  Ethernet | SFP+
elc Ethernet | Ethernet: 1/10 Gbps Ethernet | RJ45
e0d Ethernet | Ethernet: 1/10Gbps |  Ethernet | RJ45
e0/Del’! Unified Target Adapter 2 Eg:’::;ﬁ;gbﬁbns Ethemet/Fibre Channel SFP+

il e
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You want to add shelves to an AFF A300 HA pair that currently has six DS224C shelves already connected. You are
using the onboard SAS port only, and you want to keep the multipath high availability (MPHA) configuration.

Referring to the exhibit, what is the maximum number of additional shelves allowed to be added in this configuration?
(Choose the best answer.)

A.2
B. 10
C.6
D.4

Correct Answer: A

QUESTION 3

A customer uses Active IQ Unified Manager to configure SnapMirror relationships. In this scenario, which statement is
true? (Choose the best answer.)

A. Active 1Q Unified Manager and OnCommand WFA have licensing dependencies.

B. Active 1Q Unified Manager uses the OnCommand WFA API.
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C. Automation works directly through Active 1Q Unified Manager and later versions.
D. Active IQ Unified Manager and OnCommand WFA cannot be installed on or work with the same cluster.

Correct Answer: B

QUESTION 4

You want to create a new SVM for serving NFS data using the Storage Virtual Machine (SVM) Setup wizard.
In this scenario, which object is created automatically during the setup process? (Choose the best answer.)
A. a data volume named after the SVM with the suffix _nfs_voll

B. a data aggregate named after the SVM with the suffix _nfs_aggrl

C. a data LIF named after the SVM with the suffix _nfs_lIif

D. an export policy named after the SVM with the suffix _nfs_expl

Correct Answer: C

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.exp-nfs-
vaai%2FGUID363E3FA6-DE29-4578-9F45-4D23A6E1E53F.html

QUESTION 5

You are asked to create a new SVM to serve SMB data using Active Directory authentication. Which two requirements
must be satisfied prior to serving data? (Choose two.)

A. DNS must be enabled and configured correctly.

B. The CIFS license must be installed on the storage system.
C. An intercluster LIF must be created for serving SMB data.
D. An administrative user must be created for the SMB SVM.

Correct Answer: AC
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